
ASSEMBLY INSTRUCTIONS
COSMO 3-DOOR WARDROBE

WITH MIRROR AND 3 DRAWERS

may/2019

20 3/4”
56 1/4”

72”

SKU 7111 - White
SKU 7112 - Mahogany
SKU 7113 - Mocha
SKU 7116 - Java



A1
4,0x30

54

A4
3,5x14

24

F4 09

F5 09

C2
8,0x25

62

G1
10x10

50

H12 06

A9 52

D10 06

A16
4,0x40

12

E3
400mm - 15 3/4"

03

E4
400mm - 15 3/4"

03

3,5x16

D16 02

F8 02

F9 01

SCREWS ARE SHOWN IN ACTUAL SIZE 

D4 08

A25
M4x25

12

7

9

8

24

13

11

11

12

5
1

3 2

4

24

24

15

15

6

6

18 19

22

23

15

11

10

17

17

6

D27 10

3x

G11 08

J1 01

S
e
ri

o
u

s
 o

r 
fa

ta
l 
c
ru

s
h

in
g

 i
n

ju
ri

e
s

c
a
n

 o
c
c
u

r 
fr

o
m

 f
u

rn
it

u
re

 t
ip

-o
v
e
r.

T
o

 h
e
lp

 p
re

v
e
n

t 
ti

p
-o

v
e
r:

P
la

ce
 h

e
a

vi
e

st
 it

e
m

s 
in

 t
h

e
 lo

w
e

st
 

d
ra

w
e

rs
,

U
n

le
ss

 s
p

e
ci

fic
a

lly
 d

e
si

g
n

e
d

 t
o

 
a

cc
o

m
m

o
d

a
te

,
d

o
 n

o
t 

se
t 

T
V

s 
o

r 
o

th
e

r 
h

e
a

vy
 o

b
je

ct
s 

in
 t

o
p

 o
f 

th
is

 p
ro

d
u

ct
.

N
e

ve
r 

a
llo

w
 c

h
ild

re
n

 t
o

 c
lim

b
 o

r 
h

a
n

g
 

o
n

 d
ra

w
e

rs
, 

d
o

o
rs

, 
o

r 
sh

e
lv

e
s.

N
e

ve
r 

o
p

e
n

 m
o

re
 t

h
a

n
 o

n
e

 d
ra

w
e

r 
a

t 
a

 t
im

e
.

(O
R

)
D

o
 n

o
t 

d
e

fe
a

t 
o

r 
re

m
o

ve
 t

h
e

 d
ra

w
e

r 
in

te
rlo

ck
 s

ys
te

m
.

T
h

is
 a

 p
e

rm
a

n
e

n
t 

la
b

e
l. 

D
o

 n
o

t 
a

tt
e

m
p

t 
to

 r
e

m
o

ve
!

U
s

e
 o

f 
ti

p
-o

v
e

r 
re

s
tr

a
in

ts
 m

a
y

 o
n

ly
 

re
d

u
c

e
, 

b
u

t 
n

o
t 

e
li

m
in

a
te

, 
th

e
 r

is
k

 o
f 

ti
p

-o
v

e
r.

W
A

R
N

IN
G



01)

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

C2

A9
A9

F5

A4
3,5x14

12

F5 09C2
8,0x25

62

A9
3,5x16

18 D10 06

C2

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

F5

F5

F5

F5

F5

F5

F5

F5

F5

A4

A4

A4

A4

A4

A4

A4

A4

A4

A4

A4

A4

D10

D10

D10

D10

D10

D10

A4 A4

D10

243x

3x

3x

3x

10

C2
C2

C2
C2

13

11

8

7

23

23

9

9

180º

180º

1

2



02)

03)

10

11

24

A1

A1

A1

A1

A1

A1

A1

A1

A1

A1

23

9

A1
4,0x30

10

11

11

A1

A1

A1

A1

A1

A1

A1
4,0x30

06



04)

05)

A1
A1
A1
A1

A1

A1A1
A1

A1

A1

A1

A1

A1
A1

A1
A1

A1
13

4,0x30
A1 14

7

8

13

24

24

D16 02
A9

A9

A9

A9

D16

D16

12

A16
4,0x40

12

A16

A16

A16

A16

A16

A16

A9

D16

A9

A9
3,5x16

04



06)

07)

D27 10

G1 50
10x10mm

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1
G1

G1

G1

G1

G1 G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

D27

D27

D27

D27

D27

D27

D27

D27

D27

D27

D27

G1

15

15

15

15

G11

G11

G11

G11

G11

G11

G11

G11

A9 10
3,5x16

G11 08

G11

A9
A9

A9

A9

A9

A9

A9
A9

A9

A9

G11

A9

34 1/2"



08)

09)

17

17

6

6

6

D4 08

D4

6

A9A9
F4

A9A9
F4

A9A9
F4

18

A9A9

F4

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

A9

F4

F4

F4

F4

A9A9
F4

A9 A9

F4

19

22

F4 09A9
3,5x16

18



10)

11)

H12 02

A25
M4x25

04

A25
A25

A25

A25

A25

A25 H12

H12

H12

22

19

H12 01

A25
M4x25

02

A25

A25

A25

A25H12

H12

18



12)

13)

3

A1

4
A1

A1

A1

A1

A1

A4

A4

E3

A4

A4

E4

A4

A1

A25

H12

A25

H12 03
M4x25

5

1

2

3x

A1
4,0x30

24

A4
3,5x14

12 E3
400mm - 15 3/4"

03

E4
400mm - 15 3/4"

03A25 06

3x

3x

3x

Metal glides can be adjusted
as shown below 

Steps 1 through 4

nd2

rd
3rd4

st
1

J1 01

S
e

ri
o

u
s

 o
r 

fa
ta

l 
c

ru
s

h
in

g
 i

n
ju

ri
e

s
c

a
n

 o
c

c
u

r 
fr

o
m

 f
u

rn
it

u
re

 t
ip

-o
v

e
r.

T
o

 h
e

lp
 p

re
v

e
n

t 
ti

p
-o

v
e

r:

P
la

ce
 h

e
a

vi
e

st
 it

e
m

s 
in

 t
h

e
 lo

w
e

st
 

d
ra

w
e

rs
,

U
n

le
ss

 s
p

e
ci

fic
a

lly
 d

e
si

g
n

e
d

 t
o

 
a

cc
o

m
m

o
d

a
te

,
d

o
 n

o
t 

se
t 

T
V

s 
o

r 
o

th
e

r 
h

e
a

vy
 o

b
je

ct
s 

in
 t

o
p

 o
f 

th
is

 p
ro

d
u

ct
.

N
e

ve
r 

a
llo

w
 c

h
ild

re
n

 t
o

 c
lim

b
 o

r 
h

a
n

g
 

o
n

 d
ra

w
e

rs
, 

d
o

o
rs

, 
o

r 
sh

e
lv

e
s.

N
e

ve
r 

o
p

e
n

 m
o

re
 t

h
a

n
 o

n
e

 d
ra

w
e

r 
a

t 
a

 t
im

e
.

(O
R

)
D

o
 n

o
t 

d
e

fe
a

t 
o

r 
re

m
o

ve
 t

h
e

 d
ra

w
e

r 
in

te
rlo

ck
 s

ys
te

m
.

T
h

is
 a

 p
e

rm
a

n
e

n
t 

la
b

e
l. 

D
o

 n
o

t 
a

tt
e

m
p

t 
to

 r
e

m
o

ve
!

U
s

e
 o

f 
ti

p
-o

v
e

r 
re

s
tr

a
in

ts
 m

a
y

 o
n

ly
 

re
d

u
c

e
, 

b
u

t 
n

o
t 

e
li

m
in

a
te

, 
th

e
 r

is
k

 o
f 

ti
p

-o
v

e
r.

W
A

R
N

IN
G

Place the warning label
in upper drawer of the 
wardrobe as shown.

Serious or fatal crushing injuries
can occur from furniture tip-over.
To help prevent tip-over:

Place heaviest items in the lowest 
drawers,
Unless specifically designed to 
accommodate,
do not set TVs or other heavy objects 
in top of this product.
Never allow children to climb or hang 
on drawers, doors, or shelves.
Never open more than one drawer 
at a time.
(OR)
Do not defeat or remove the drawer 
interlock system.

This a permanent label. 
Do not attempt to remove!

Use of tip-over restraints may only 
reduce, but not eliminate, the risk of 
tip-over.

WARNING

J1



attach to furniture

attach to wall
A9

A9
F8 F8

not included

F9 01

F8 02

3,5x16
A9 02

W
A

L
L

F9

W
A

L
L


	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10

